STOICHIOMETRY LIMITING REAGENT

(1) Consider the following reaction:

AgNO, + Na,PO, —> Ag,PO, + NaNoO,

Balance the reaction.

.....

_____

formed?

.....
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(@) Consider the following reaction:

N, + H, —> NH

2 3

Balance the reaction.

How many grams of NH, are produced when 28 g of N, reacts with 25 g of H,? What
is the limiting reagent? What is the excess reagent? How many grams of excess
reagent remain?



STOICHIOMETRY LIMITING REAGENT

Answers
(1) Consider the following reaction:

3 AgNoO, + Na,PO, —> Ag,PO, + 3 NaNO,

Balance the reaction.

_____

formed?

T o B G 1 mol AgNO, 1 mol Ag,PO, 419 g Ag,PO, 6 o PO
IR X 770 g AGNO, ~ 3mol AgNO, ~ Tmol Ag,PO, = 979

1 mol Na,PO, 1 mol Ag,PO, 419 g Ag,PO,
200 g Na,PO, x ®
o 164 g Na,PO, 1 mol Na,PO, 1 mol Ag,PO,

511 g Ag,PO,

164 g of Ag,PO, are produced.

o] How much excess reagent is left?

,,,,,

500 4 AGNO 1 mol AgNO, 1 mol Na,PO, 164 g Na,PO, 643 g Na PO q
X X X = .
IAITE % 770 g AgNO, ~ 3 mol AgNO, 1 mol Na,PO, g A, Bse

200 g Na,PO, - 64.3 g Na,PO, =135.7 g Na,PO, remains

(@) Consider the following reaction:

N, + 3 H, —> 2 NH

—_— — 2 P 3

Balance the reaction.

How many grams of NH, are produced when 28 g of N, reacts with 25 g of H,? What

is the limiting reagent? What is the excess reagent? How many grams of excess
reagent remain?

ey . 2 mol NH, 17 g NH, S M
X X X —
9% " T8 g N, Tmol N, ~ 1mol NH, SRS

55 o 1 mol H, 2 mol NH, 17 g NH, = Rl B
9% *T2gH, * 3molH, ~ ImolNH, 97

N, is the limiting reagent, and H, is the excess reagent. 34 g of NH, can be produced.
Let us calculate how much excess reagent remains.

782 N 1 mol N, 3 mol H, 2gH, & I8 q
9™ " 28gN, T TmolN, < TmolH, 9" "E

25gH,-6gH, =19 g H, remains
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